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Carefully read the instructions given on Question Paper, OMR Sheet
and Answer Sheet.
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Question Paper is in Hindi and English language. Candidate can
choose to answer in any one of the language (i.e., either Hindi or
English)

3 Al / YW & & AT §| 0T Uh H GR g R amr @ A
o w2 gl

There are TWO PARTS in this Module / Paper. PART ONE contains
FOUR questions and PART TWO contains FIVE questions.

mw“éaﬁ%quw%mﬂsgﬁrﬁm% TJAT AT G,
“SAFTRE” FFR § IR 585 Fof 31F 60 § |

PART ONE is Objective type and carries 40 Marks. PART TWO is
subjective type and carries 60 Marks.
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PART ONE is to be answered in the OMR ANSWER SHEET only,
supplied with the question paper, as per the instructions contained
therein. PART ONE is NOT to be answered in the answer book for
PART TWO.
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Maximum time allotted for PART ONE is ONE HOUR. Answer book
for PART TWO will be supplied at the table when the answer sheet
for PART ONE is returned. However, candidates who complete
PART ONE earlier than one hour, can collect the answer book for
PART TWO immediately after handing over the answer sheet for
PART ONE.
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Candidate cannot leave the examination hall / room without
signing on the attendance sheet and handing over his Answer
sheet to the invigilator. Failing in doing so, will amount to
disqualification of Candidate in this Module / Paper.
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After receiving the instruction to open the booklet and before starting
to answer the questions, the candidate should ensure that the
Question booklet is complete in all respect.
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Note: In case of any discrepancy found in Hindi version, English version will be treated as final.

ST deh 9T gl o ST ad doh cr%;r-g%ﬁ?r o @rel|
DO NOT OPEN THE QUESTION BOOKLET UNTIL YOU ARE TOLD TO DO SO.




HTIT Th /| PART ONE
(@sft et & 3w & / Answer all the questions)

1. A vAF deT & IW & 5§ AFew e av §
TF FAU 39gFd Awed g AR I/ WA v &
gy RU v “NTAIR” 3@ WE H, 39A R
T gt ¥ TR, & F
Each question below gives a multiple choice of
answers. Choose the most appropriate one
and enter in the “OMR” answer sheet supplied

with the question paper, following instructions
therein. (1x10)

1.1 € 93T & fohy Sramiaer fafer 1 3regeror foham strer
8?

A) ey B) Wall-arcH

C) wrbeRd D) 3ifssiore 3=AEl
Which programming method is followed in C
language?

A) Algorithm B) Flow-charts

C) Procedural D) Object Oriented

1.2 getchar() HarRleT fohd §X BIScT H 3Ucls g7

A) stdio.h B) conio.h
C) math.h D) header.h
getchar() function is available in which header file?
A) stdio.h B) conio.h
C) math.h D) header.h
1.3 =TT IS T 3T3CYE IAlecd |
int main()
{
inti=-2;
printf(“-i = %d”,-i);
return O;
}
A) -i=2 B) i=-2
C) -i=-2 D) -i=+2
Find the output of following code
int main()
{
int i=-2;
printf(“-i = %d”,-i);
return O;
}
A) -i=2 B) i=-2
C) -i=2 D) -i=+2
1|Page
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1.4 printf() IRadT FTARAERRT garT foFd HE&AT JOTRr

T A FETele 8T fohar Sirar &7
A) cHFeIq B) &SRy
C) 3ifeFeel D) dFErREH

Which numbering system is not handled directly by
the printf() conversion specifiers?

A) Decimal B) Binary

C) Octal D) Hexadecimal

1.5 FAfaf@a & @ Fi9 a1 U ITed ASAHT TecHT
g7

A) N=m=0 B) Value+=10

C) mySize=x<y?9:11 D) Value=+=10
Which of the following is an incorrect assignment
statement?

A) N=m=0

C) mySize=x<y?9:11

B) Value+=10
D) Value=+=10

1.6 fAe=Tfaf@d gram 1 3m3eye Far gran?

int main()

{

int x=5;

printf(“%d %d %d”,x,x<<2,x>>2); }
A) 1205 B) 5120
C) 5201 D) 2015

What will be the output of the following program?

int main()

{

int x=5;

printf(“%d %d %d”,x,x<<2,x>>2); }
A) 1205 B) 5120
C) 5201 D) 2015

1.7 Th Gt Hgde @A v degel werA A
TeeHT T U YT aR-aR TAsaried fham ST Gl &

A) od FeeTHS B) HAIRMT TETHT
C) sl TECHT D) 3Wied et

A programming construct in which a set of
statement in a computer program can be executed
repeatedly.
A) Loop statement
C) Block statement

B) Conditional statement
D) All of the above
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1.8 fAF=Taf@d 9 1 3M3cye T gram?
int main()
{
for(int c=1;c<=5;++c);
printf(“%d”,c);
}
A) 1 B) 5
C) 6 D) 12345
What will be the output of following program?
int main()

for(int c=1;c<=5;++c);
printf(“%d”,c);

}

A) 1 B) 5

C) 6 D) 12345

1.9 C #, I 3T Teh W &l Teh Hafelel o IHAC o &
AU FA &, AT Idd A FAT I giaT 87

A) W H TelHTH &I deg

B) W &I JUH TTIHC

C) WFI T T

D) W & 3ifax efodc wrvgw
In C, if you pass an array as an argument to a
function, what actually gets passed?

A) Value of elements in array

B) First element of the array

C) Base address of the array
D) Address of the last element of array

1.10 U do while 9T fhcell SR o[d Y RIS §72

A) 0 B) 3m=d

C) 1 D) 9Radi T
How many times is a do while loop guaranteed to
loop?

A) O B) Infinitely

C 1 D) Variable
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2. R &I I 9w fAERor I ar ¥ A1 T9q F
TF Fa@ 3UGFd fAFeT I AR 3{ geT 9F &
gy RU Iv “NTAIR” 30 WE H, 39A R
T fAdet ¥ IR, & F (1x10)

2.1 el T AT A AT GART AT Hegd G@RT JHRT ST
ghar gl

2.2 T HeFIeT 1 gAY el & 3Heed foeRe 8t fomar
ST HehdT|

2.3 FT A\ EIYUTT char **apple, char *apple[], and
char apple[][] ¥#TT g2

2.4 IfE v aedfas & #1 afAd & & v saa
$1 IS gIToT 7 & aF Ush oIi9T 3ol T FAT fhar ST
HehT 2

2.5 malloc() AARY FT e 819 T FIAT & T T AdT

2.6 BiFe # fprintf() HFAA FI Hicd IS THT T
gRadeT specifier%s I T Tk HiFeX Tl Hr
Fice ded # forgst & forv fomar ST ashar §1

2.7 Ueh o1l I Ueh TG H ATfHAS A1 fohar
HehdT|

2.8 Ueh 9T ST oh ATY ANSYeld IR I FIIT AgT
TR ST TR |

2.9 I enfAS Fr AT arely sl fagIAT & g ar
TAER Th TR e 2l S id T g

2.10 T oI Fr 715 fore T NI a7 TR ¢ STar
e TfordT Ueh 37eTe 3ifsotae g

3|Page
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Each statement below is either TRUE or FALSE.
Choose the most appropriate one and enter
your choice in the “OMR” answer sheet
supplied with the question paper, following
instructions therein. (1x10)

2.1 Function can be called either by value or reference.

2.2 A function cannot be defined inside another
function.

2.3 Are the three declarations char **apple, char
*apple[], and char apple[][] same?

2.4 A long double can be used if range of a double is
not enough to accommaodate a real number.

2.5 malloc() allocates memory from the heap and not
from the stack.

2.6 While calling the fprintf() function in the format
string conversion specifier %s can be used to write
a character string in capital letters.

2.7 A union cannot be nested in a structure.

2.8 The modulus operator cannot be used with a long
double.

29 If the file to be included doesn't exist, the
preprocessor flashes an error message.

2.10 A linked list is a linear data structure where each
element is a separate object.
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3. Fread X & RU 7w great 3R arra) F1 A Fadw Y # Re 0 Sheawn grafa 3 / ereal /Al
¥ F 30 RFed N 99 & WY RE A0 “HAIR 3R/ w=F A, 39A R{U a0 Iepeat w1 qre
A gU, &t A (1x10)
X Y
31 |TIT I HiT FAT g A. | sAThTe o IS ofd & 3ree Al e FeTHT &l
3.2 |fEar s B. | C #H U& 3udNThdm uiRd 3t 9o S 3maent Ueh fay g&R &1 Repis
TG el o forw fafdest ster 1 fAemet &1 sepafa dar g
33 |geR RS C. | qd# Jafed T & 3R H TS Fer &
3.4 |while(2) D. | Refia weereq
35 |FgFRR E. | strepy()
3.6 |realloc E. Wqﬁaé;r
3.7 |exit() G. |-
3.8 |crsq SifEear H. | T YR & STl TolHcH T TIGUT
3.9 |\ ‘used for I dAfforehel 3Ty
310 (Mus & J. | strcat()
K. | 91 nme §g aXdl &
L. | ol T0g
M. |+
4. AT Re 71 9% g & A & 7§ g § v oaeg AT A B A@a F A Rea wo=r ¢ q@@
39gFd faFer g #R 3@ W 99 F WY RE AT WA IW g=79F A, 397 RU v st F
AR, & FY| (1x10)
A. Const B. ST C. ARGE I
D. TFolETe E. fputs F. 2 98¢
G. Six H. e I 4§15¢
J. sizeof K. ge-fadi L. *
M. | & i
41 e s fafafese wsar & ve ufed fo@ar g1
42 U HeMRYA & T fAEaor gl
43 TS RGN P IRFH R TH7T 38 FAveh F Ty T i AR I I ThaT B
4.4 AT TR GaRT ol AT Tl STST T FEIT 3o T g
45  T3wiec &7 A, aafas Jeard SR TUTAT hY FETHT o I HfeeT 81 Siell &
4.6 FeeHe g weede & Ay Fearfed ford S oY Fgarel & i aTe 81 STl ¢
4.7 FETHT T JANT o[T H TECHT & AT I BISeT o TIT TN T ST Bl
48 THWAAYIVF qETFe H AT HRAEIT W HFT A A = g1
49 TS FalC Yisex ptr # 1 Jel 9 3TH 1 e g et
4.10 3iTex aRadt &1 ATt 38 fonet TR g3t oX g e 81
4|Page M3-R4-07-18

ROUGH WORK SPACE:



3. Match words and phrases in column X with the closest related meaning/ word(s)/phrase(s) in
column Y. Enter your selection in the “OMR” answer sheet supplied with the question paper,

following instructions therein. (1x10)
X Y
3.1 |Calls itself Infinite loop if no break statement inside the loop
3.2 | String copy B. A user-defined data type in C which allows you to combine different
data types to store a particular type of record.
3.3 |Unary operator C. Modify the size of previously allocated space
3.4 |while(2) D. Recursive functions
3.5 |Structure E. strepy()
3.6 |realloc F. Explicit conversion
3.7 |exit() G. -
3.8 |Typecasting H. Collection of similar type of data elements
3.9 |\ ‘used for l. logical operators
3.10 |Arrayis a J. strcat()
K. Terminates program
L. Vertical space
M. +
4, Each statement below has a blank space to fit one of the word(s) or phrase(s) in the list below.

Choose the most appropriate option, enter your choice in the “OMR” answer sheet supplied with
the question paper, following instructions therein. (1x10)

A. Const B. continue Two-dimensional
D. Flowchart E. fputs F. 2 bytes
G. SiX H. break l. 4 bytes
J. sizeof K. Multi-dimensional L. *
M. &
4.1 Function writes a line to a specified file.
4.2 Pictorial representation of an algorithm is

4.3 A variable can be made constant by declaring it with the qualifier at the time of initialization.

4.4 The operator returns the number of byte the operand occupies.

4.5 By default, the real numbers are printed with a precision of decimal places.

4.6 The statement when executed in a switch statement causes immediate exit from the structure.
4.7 The statement is used to skip a part of the statement in a loop.

4.8 An array that uses more than two subscript is referred to as array.

4.9 After incrementing a float pointer ptr by 1 it would be incremented by

410 The operator return the value of the variable to which its operand points.
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AT ST / PART TWO

(fF=gt IR weat & 3w &/ Answer any FOUR questions)

5.
a)

b)

c)

b)

c)

b)

Afaf@d dea #1 9efiia & & v s ¢
g o

A

BB

ccc

DDDD
EEEEE

Ueh 'C' A1 ford S Rqar FeTHe T 91T 3 §U
T Efther TT5T & W F HUR W GEIA hare
T T 8

HaleT FAT §? HaRlel & T TIST HY. SFeRLU,
BT PicT IR HererT STRfaere &r off 3eEor &

T SATEAT |
Write a ‘C’ program to display following pattern:
A
BB
cCcCccC
DDDD
EEEEE
Write a 'C' program that displays the recommended
actions depending on the color of a traffic light
using the switch statement.
What is function? Explain uses of function. Also,
explain declaration, function call and function
definition with example.

(4+4+7)

T 3T & gy Y W) Aled Fa & TaT T
‘C’ grane fordd |

FEFR F G A §U, TH [ &I gl
(ef¥en, or@eh, fawar 3R g 3T Hare A 3R
39gead WiHe H 3T Yedd & faT v ‘¢ A
forg|

Teh W & JgaH UaAT Aled Ao & fov wh C
grane forgd|

Write a ‘C’ program to find the frequency of
characters in a String.

Write a ‘C’ program to store information (title,
author, subject and book id) of a Book using
structure and display it in appropriate format.

Write a ‘C’ program to find largest element of an
Array.

(5+5+5)

6|Page
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a)

b)

b)

a)

b)
c)

a)
b)

c)

a)

b)

a)

b)

Fibonacci I till term < 1000 de& Aled A &
I Teh Fall ATE ST |
‘C’ H 39cteyy [AffHeeT TR g9t Y carear |

Draw a flowchart to find the Fibonacci series till
term < 1000.

Explain different storage classes available in ‘C’.
(7+8)

‘igeT g herelel o SR A 3UGeFd 3A]0T & Y
HAST|

Teh WX & o187 31X 37lTsT A1 872

Teh HIST &l ¢ @yl Wigel H Hidl kel & foIT
T 'C' 91 fordd |

Explain about ‘pointer to function’ with suitable
example.

What are the advantages and disadvantages of an
Array?

Write a 'C' program to copy text of one file to

another file.
(5+5+5)

HHATS TS E[HC 41 g2 Tg i 9V & FaA’s
TS AT Y ‘C AITH H HE I AT &
SRR SRRTFCEH AT 82 H 3eTehl 3Rl &1
£? RAffea TawR srRfFeey i carear 17
TFET As 3R TSR AS WISl & a1 AT TASC
H|

What is command line argument? Also, explain how
to pass command line arguments to ‘C’ program.
What are preprocessor directives? Why do we
need them? Explain various preprocessor
directives?
Explain the difference between Text Mode and
Binary Mode files.

(5+5+5)
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